14. JE/HZE Practical problems

14-5

1. Janet and Mable have a total of $320, and Janet has 3 times as much money
as Mable. How much money does each girl have?

2. Samuel's weight is 19kg more than twice that of his daughter. If he weighs
71kg, find the weight of his daughter.

3. A's weight is 3kg more three times that of B. If A weighs 5Tkg, what is B's
weight?

4. John's money is less than twice that of Mary by $38. If John has $140, find
the amount Mary has.

5. Mrs Lee bought two type of lipsticks for $420. Type A costs $45 each and
Type B costs $80 each. If she bought 7 lipsticks altogether, how many
lipsticks of each type did she buy?

6. $90 is divided between Paul and Andy so that Paul has $14 more than Andy.
Find how much each of them has.

7. Shirley lent $43 to Amy and then used one-third of the remaining money to
buy a magazine. If she had $48 left, how much did she originally have?

8. A has $15 more than B, and C has $8 less than A. How much money does
each person have if they have a total of $160?

9. A shopkeeper has 120 pens. 'Some cost $2.5 each and others $3.5 each. If
the total cost is $380, find the number of each type of pens.

86 TFERIFES Linear equations and inequalities



14. JE/HZE Practical problems

14-5
. BB TIES320 - MEIRAEEREN =% - MZESE 2D

o

Pl R LEA A2 A R EE Y E AT E 220 19kg » F5 AR E Tlkg > SRAIZC5LHY
HE -

A IL B EI=HEEZ 3kg » AR A & Slkg ) KBYEHEE -

R HISEELIE AT A R D838 > AR/ NHER 8140 - SRIEHE 2V §% -
ZRUEE TR - 4L478420 - A FUFH$45 - 1 B 5UERS$80 » 2kt
HET TREE - FBRMESSE T 2SR

1890 3B OREEFNZE M - Zol TR HLIRFE 2814 - BRI ASGZ D
27

NEEE 7843 fa/E o ARIRFHER NRUS M — 888 7 —A%EE - 2R/
BEFURIERS48 - it 270587

AL B %815 1M C Lt A V88« ANRMFI= AFAGS160 > KEANFZD
—(IJERAE 120 K% EEEELS2S > M5 EERS3.S - 41
REMHEES380 - KA ESHLD -

Nivd

i

TR Linear equations and inequalities 87





